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!33) 3 = xg-l-/(xz— x - /0

0\) dy - 3x+2kx-9 =0 at sPs.

dx
r & has x value - |
3(-)+2k(~1) -9 =0
Z—2E =9 =0

—b = Q/C
=8 = k
b) k=-3 A
i sl éy_:f’)x —6x — 4 = O
- x -2 -3 = O
Cjc -1—’)(1"'3) = O
ethes x+l =0  or x-3 =0
X = — | T = 3
k="3 _Cur\f€ " \l/ 2 V 3 2
U=13_3x—9’x -10 fj = C_[)?j (—:) —‘76-!)—’0 j = 63)"3(3 )-1/3)
U:ﬂ;~3+CI—/O e
:31'3‘7‘91_10
N d: -5 J
Y= -7
~1,~-5
) dY = 6x -6
d
x = ==
dzld = ’”6‘”‘6 dzj = )8'6
dx* dx*
~§i~& T LoghL K(3,-31) LocAL
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&) V= BB)(5-2x)=
V = (40-l6x "/O'r—}!/_‘r?—) =
V= @O—Qéx + 411) %
V= 4x°-2bx"+40x

b) AV = 22 -52x+40 = O afF sP’s
dx 5
(3x #2)(x—5) =0O
-&'H‘uef =
3x$71L=0 -5 =0
I=f2é M Z=95m
SR TmbossiBLE

Vmax = I (%"’ - ze(%)" L 40@5.;)

= Lkx8 - Zéx*_LL + 80
al q 2
= .82 ~ 32 + 720
27 277 bt g |
= 4o m3
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}35) 3.—. xs- bz +nxr- 9
| a) dy = Bx—FRx +/2 = at sP¢

o x —lhx +4 =0
(x-2)(x-2) =0

ether -2 =0 orf x¥-2:=0
N V

=D

0/1/7 / S/rr%bna/j /70/'/17Z
U = 23"‘ 5(22)-!- 12(2) -4

J: §— AL +34 — 9

(j:_/ S SP s (2,—/)

dy - 6x -/2

o (Q,—/) s a /)0;47’ of
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